


� � � � � � �

���	��
��	����
� � � � �
�������
�	��

������
�	������ � � � � � � �����
��������� ����������
 !!"



�#��!$%&!�
� � � �'$(%)'*�

+,-%

����������	������������������	����� �
�&� ������

�������� �
�&��.��	�

���������	 �� � �
+,-%� �/01��� 2�10���� �03��4� �� '� /&� �&� $4� �5����3� 6078� 9 �

:51&� 6� ��;�<� =0>�15>&� �&� �1�0��&� �� �&4� �	����� ���?
�@3���ABC� ��������������� �� ����<�  !!"&� �� $'"�6&

DEFG� -,$%%,% 'H ,$� (/&� $)
DEFG� -,$%%,% -$',!

��/01��� 2�10���� �03���� �� ;����@3� ��/51�/A1�@3� /1A>� �1A=?
�53I5;0� =0��/�J56�0;0� �� ;06A>�16/�5��0;0� >5�/5��� �5���0B1�/�?
���� KK� �5��� ���6/0��� �=5�651��L51J����� ( "H+, !'-)&� ��>�M/�2��
252A�1�2�<� 60>51��N�2�� B0;�/53I�3�O��/�J56��3� 2�/51���<� ��/01�
1�B0/���6�  !+-�=0�  !-+�;&

�15/�3� /02� �� ��5����3�6078�� �� 1�66��8@��5/�0�60B@/��P�  !+ �
;0>�4� >��Q�53I52� =10/��06/0����� ��;���� �� R512����<� ��=�>5����
;�/�510�S5�� ��� �0�5/6��3� �078� �� �/�;������� �� �5����3� �0�O���/�
�T����U=0���&

	�������� �
�����������

������������������� � �� �� �
������������������ V��	���������@3� ��AB<�  !!"�

V� ��������������� �� ����<�  !!"



�����W�X��R�����#�

������	�� �	T��	�W����W�
�� :����	���� � ���	�����
�� :��	#	���	����#�T�	�
�� ���	��#����U� ���U

�������
�	��

�	���#����R������

������R��L��	���
�	��L��T����
���#����U��� �������W�
Y�����	���Z	��������	<�
:�������	������
���[������	������
��U��������	����U�
�����U� ����	#��	���	�
T����





:�	#������	

��6/0�N�3� /02<� ���� �� �65� 06/��Q�@5<� ����5/6�� ��IQ� J�6?
/�J�@2� ����>02� �� �6/01�7� �/0103� 2�10�03� �03�@&� :0�56/�0?
����5� �5>5/6�� 6� /0J��� 815���� ��;��36�0;0� =152Q51,2���6/1�<�
�0/01@3� �56� 060BA7� 0/�5/6/�5��06/Q� 8�� �05��@5� >5��� ���� 2�?
��6/1� 0B010�@&� ���� ���� M/�� >5��� >0� �5�0/0103� 6/5=5��� ��P0?
>���6Q� �5=0615>6/�5��0� �� 2052� �5>5���<� /0� 0=51�S���
��;��36��P� �036�� 06�5N�7/6�� �0� �652� �P� 0B\525� �� >0�0�Q�0�
=0>10B�0&� �� /0� �5� �152�� 0=�6���5� A6���3� ��I�P� 6078���0��
6�A��/� ��IQ� O0�02<� ��� �0/0102� 1�8�51/@����6Q� ��I�� 0=51�?
S��&� �08>�/Q�>0���05�>5�/5�Q�06/�� ��I�P� 6078���0�� �� 606/0?
����� ��IQ� �P� 60B6/�5��@5� �6/01���� ���� �=06�5>6/����
��;��36��5� �6/01���<� �0/01@5� 620;A/� >�/Q� B0�55� =0��A7� ��1?
/��A� 60B@/�3&� U� �5<� 608�����<� J/0� �� ��6/0�N�3� 2025�/� 60?
B�7>5��5� >0���@P� =10=01S�3� �5� =15>6/����5/6�� �0820��@2<�
=06/�1��6�� �8��;�/Q� ��IA� 60B6/�5��A7� �6/01�7� �� 55� 6��8�� 6�
0�1A��7N53� 0B6/��0��03&

�6�0��03���/Q7�=0�56/�0������=0,=15��52A�6�A��/�>�15�?
/��@<� /5�5;1�22@� �� 6�A�5B�@5� 8�=�6��<� ��6�7N�56�� =0�65>?
�5��@P� �0=1060�� �5>5���� �03�@� �� ;06A>�16/�5��@P� >5�&� �65�
M/0� �� =0>����@5� >0�A25�/@<� �0/01@5� �� 606/������ =0� 2515�
1�8��/��� 60B@/�3&� :0M/02A� 0��� =15>6/����7/� 60B03� B0�55� >0?
6/0�51�A7� �5/0=�6Q� �<� =0,2052A<� 608>�7/� B0�55� =0��05� �=5?
J�/�5��5� 0� =10�6P0>��I52� �� 0� /02<� ����2� 0�0� ��2�
=15>6/�����06Q� �� /0� �152�<� J52� �7B03� 0/J5/<� �0/01@3� �� 20;�
B@� ��=�6�/Q� /5=51Q<� �0;>�� P0>� 60B@/�3� A�5� �652� �8�56/5�&�
]0/�� �� =1��5>5��@P� 8>56Q� >0�A25�/�P� �6/15/�/6�� 2�5���� ��
=15>6��8����<� �0/01@5� �5� 0=1��>���6Q<� �� B@� P0/5�<� J/0B@� 0�
2053� >0�5� AJ�6/��� �� �03�5� 6A>���� �25��0� ��� 06�0������ �65P�
M/�P� >0�A25�/0�&� �0�Q�0� =1�� M/02� A6�0���� J�/�/5�Q� 620�5/�
=0��/Q� 15I�52@5� =10B�52@<� 6� �0/01@2�� ��2� =1�P0>��06Q�
6/������/Q6�<� P�1��/51� �0/01@P� 0=15>5���6�� 6�5>5���2�<�
�25�I�2�6�� �� /0� �152�� �� ��I52� 1�6=01��5���&

�/�5/@� ��� M/�� >0�A25�/@<� �0/01@5� 8�J�6/A7� =1���2����
P�1��/51� >����@P� 25201��>A20�� /0;0� ���� ��0;0� �5>026/��<� ��
�5� 20;A� =1��56/�� 8>56Q� 8�� 0/6A/6/��52� 256/�<� �� /���5� =0/02A<�
J/0� �0� 2�0;�P� 6�AJ��P� �5� �257� ��� M/0� =1���&� :0M/02A� �� =0

-



2515� �0820��06/�� �8B5;��� =15>\����/Q� 0B���5���� 0/>5�Q�@2�
��S�2&� �58>5<� ;>5�M/0�0��8@���06Q� �0820��@2<� ��6/�1��6��=1�?
�0>�/Q� �1�/�05� �8�0�5��5� 0/�5/0�� ��� /5�5;1�22@&� ���� =1�?
���0<� 0>���0<� =025N5��@5� 8>56Q� >0�A25�/@� 6�2�� ;0�01�/� 8��
65B�&

��M/02�/025�15JQ�6�0��� �>5/�0� �03�5�;�;��/6��P�2�6I/�B0�&�
�� 61��5���P� ��� 1A66�02� O10�/5� 6� 0B5�P� 6/010�� AJ�6/�0���0�
�5� 25�QI5�>���8�3<� J52� �� B�/�5� 8�� [1��S�7&� Y>56Q� ��� �7B02�
AJ�6/�5�O10�/�� ;01�8>0� B0�QI53� =10/��5��06/�� 61�����6Q� 0;?
102�@5� 2�66@� �036�<� �� /��0;0� �10�0=10��/��<� �5� 61����20;0�
��� 6� J52<� �5� B@�0� ��� ��� 0>�02� >1A;02� AJ�6/�5� O10�/�� ��
/5J5��5� �653� �03�@&� U� �5� 20;A� =08�0��/Q� 65B5� J/0,��B0� B0�Q?
I55<� J52� =106/05� A=02�����5� 0� B01QB5� 25�>A� ;512��6�03� ��
1A66�03� �12��2�<� 1�662�/1����� 55� ��IQ� ���� O0�<� ��� �0/0102�
1�8������6Q� >536/���� ��;���� �� 55� 8�=�>�@P� 6078���0�&� �A6?
6���� M=0=5��  !+ � !+*� ;0>0�� 8�6�A����5/� =0>10B�0;0� �� B56?
=1�6/1�6/�0;0� �8AJ5���� �� �8�0�5���� ��� ��;��36�02� �8@�5&�
X/�� =0=@/��� >0����� B@/Q� 6>5����<� P0/�� ��06/1��S�2� 20;A/� ��
�5� =15>06/���/Q� B��;0=1��/�@P� A6�0��3<� �0/01@5� =08�0�����
B@� �2� 0=�6�/Q� 6/1�>����<� �@=��I�5� ��� >0�7� 1A66��P<� �� �P�
/01�56/�0&� X/0� 6/152�5��5� �5� >0���0� 0P���>�/Q6�� /���5� ��
/52�O��/02<� J/0� �0�5/6�05�=1���/5�Q6/�0�A�5�=15>\����0�=15?
/5�8�7� ��� B581�8>5�Q�A7� 6���A&

�/01�5��5� R�/�51�� �� �066�7� =0�0���0� �0�5S�>���I52A6��
=0J/�� ;0>� =51�0>A<� �� /5J5��5� �0/010;0� �5���0B1�/����� �� �6��
55��2=51���B010��6Q�6��1�;02�0>��� ���0>��<� �5�/51���2A�56/���
�� �5=151@��0� ��1�N����� 6��@&� T56/Q� 256�S5�� 6=A6/�� �05>�?
�5��@5� T/�/@<� =0>�51;I�56�� �56/0�02A� ��=�>5��7� U=0���<�
6/���� ��I�2�6078���02��0��65P�0/�0I5���P&� :0J���>�����I�P�
60�256/�@P� >536/��3� B@��� =0>;0/0��5��� 8�1��55� B��;0>�1��
2053� =515=�6�5� 6� =158�>5�/02� �A8�5�Q/02<� =1�J52� 0��8��06Q�
�0820��@2� =15>A620/15/Q� �5� /0�Q�0� P�1��/51� ��I�P� 0=51�?
S�3<� �0� /���5� �� �P� =06�5>0��/5�Q�06/Q&� XOO5�/���05�60/1A>?
��J56/�0� �65P� ��;�0�8@J�@P�6/1��� �� �5>5���� �03�@���608>���5�
�5���0;0� 6078�� 8��51I�7/� M/A� J�6/Q� 205;0� =0�56/�0�����&

�������� ��� ��������
L�1/AM��

 � �� ��1��  !-%� ;0>�



� ! "  � � # � � $ !% �
&'()*+,-� 	�.(')/-'.�-� +*� 01�.1�

R � � � � � = 5 1 � � � �

:�����U� �� �������

�;��>@���6Q� ��8�><� ��� B56�0�5J�A7� 6A2�/�SA� �03�@<� �� �5�
20;A� �6=02��/Q� >1A;0;0� =51�0>�<� �0N�� 6��8���05� 6� �53� ��?
=1��5��5� �� 0B���5� =10B�52<� ��P�@�A�I�P� 61�8A� ���� �� B@6?
/103� =06�5>0��/5�Q�06/�<� B@��� 6/0�Q� /�;06/�@2�� >��� 25��� ��
20�P� �0��5;<� ���� �� =51�A7� =0�0���A�  !+ � ;0>�&� ��82�P� 60B@?
/�3� 6� ���>@2� ;0>02� A�5��J����6�<� �0� 15I5���<� �0/01@5� ��2�
=1�P0>��06Q� =1���2�/Q<� �5� 6/��0����6Q� B0�55� /1A>�@2�&� ��
 !+*� ;0>A� ��6� =06/�;��� 5N5� B0�55� ;108�@5� �05��@5� ��/�6/10?
O@<� �0� �� M/02A� �1525��� 2@�B@��� A�5� �5�0>��� �� ��I�� 6A>QB@�
B@���6��8��@�6�6A>QB�2�� �5���0;0�6078�&� ���0>����8�=10B�52<�
6/0��I�P� =515>� ��2�� ��  !+ � ;0>A<� �5� 20;��� B@/Q� 1�815I5���
��5� 6��8�� 60� �652�� 06/��Q�@2�� =10B�52�2�&� �0<� J/0� =06@��?
�06Q� ��� 0>��� /5�/1� �05��@P� >536/��3<� =1�P0>��06Q� 0/1@��/Q�
0/�>1A;0;0&� �6���5� ���0>�02�AJ�6/�5�08��J��0�1�6�� ���>1A;02&�
��I�� 2�/51���Q�@5� 156A16@� B@��� 6/10;0� 0;1���J5�@&� :08�?
S�7� 2�0�56/��� ;06A>�16/�� �� >1A�56/�5��@P� ��2<� �0�5B�7?
N�P6�� ���� =0/5�S���Q�0� �1��>5B�@P� �� �5�0820��0� B@�0�
=15>A;�>�/Q&� �� 65B�� �� 6/1��5� ��2� =1�P0>��06Q� >A2�/Q� 0>�0?
�1525��0� �� 0� B01QB5� 6� ;512��6��2�� =0>�0>�@2�� �0>��2�<� ��
0B� A;1085� �/01�5���<� �� 0� �5=15�1�N�7N�P6�� B02B5���PC� ��2�
=1�P0>��06Q� 06AN56/���/Q� 1�>� ��2=���3� ��� �15>�52� �06/0�5C�
�� ���0�5S<� 2@� >0���@� B@��� 6/�1�/Q6�� 608>�/Q� O10�/� =10/���
R512����� ��� �������P&� �� �65� M/0� �� /5J5��5� >0�;0;0� �1525���
��2� =1�P0>��06Q� >5��/Q� 0>��2&

�̂ �̂ ^

�� ��;���� 2@� �0� �6��02� 6�AJ�5� �25��� /�51>A7� =0J�A� =0>�
�0;�2�&� U� B@�� A�515�<� J/0� =1�� A6�0���<� 56��� 2@� BA>52� >51?
��/Q� 6/1��A� �� 606/0����� 2��6�2��Q�03� B05�03� ;0/0��06/�� ��
0B56=5J�2� �50BP0>�2@5� �001A�5��@5� 6��@<� =0=@/��� �52S5��
06AN56/��/Q� �/01�5��5� ��  !+ � ;0>A� �5� ���565/� ��2� AN51B�&�
R512��6���� ����S��� ��� �65P�/5�/1�P��03S@��58��J�/5�Q�0�A6�?
����6Q� =0� 61���5��7� 6�  !+ � ;0>02<� /0;>�� ���� 6��@� ��I53�
�6/15B�/5�Q�03� ����S��� �� 25/10=0���� �08106��� 0/� - � >0� H"�
M6��>1���3<� �� B02B�1>�10�0J�03� �� 0/� *H� >0� +-&� �52S@� �5�
�@�;1���� �08>AI�A7�B�/�A� ��  !+%�;0>A<� ��A���P<� =0,��>�202A<�
&B@�0� 2��0� I��60�� �@�;1�/Q� 55� ��  !+ � ;0>A&� �12��<� 8�NIS��,

H



I��� ��IA� 25/10=0��7<� 6/���� ;01�8>0� 6��Q�55&� Y�� =51�0>� 6�
65�/�B1��  !+%� ;0>�� =0� 65�/�B1Q�  !+ � ;0>�� J�6�5��06/Q� 55� A�5?
��J���6Q� 0/� *'� >0� $+� 15;A��1�@P� >���8�3� =�76� -� B10�5/��?
�0�@P� >���8�3&� :1�� M/02� ��>0� AJ56/Q� 8�����A<� =0�AJ5��A7�
��I�2�� �036��2�<� �� �P� �08106IA7� 06��N5��06/Q� �001A�5��?
52&� L�6�5��06/Q� 0/1�>0�� 256/�03� 0B010�@� A�5��J���6Q� 0/�  �
2����0��� >0�  � -%%� /@6�J� 60�>�/<� =1�J52� �65� 0��� B@��� �00?
1A�5�@� /5=51Q� 0;�56/15�Q�@2� 01A��52&� Y��J�/5�Q�0� A�5��?
J���6Q� J�6�5��06/Q� �036�<� =0�@6���6Q� �P� 20B��Q�06/Q<�
06��N5��06/Q<� B05����=0>;0/0���� ��01;���8�S��<� ��/���5�A�AJ?
I���6Q� 6�6/52�� 0B010�@&� �� R�/�51�<� �0�5J�0<� �65;>�� �25�06Q�
2�0�56/�0� 60�>�/<� �0/01@P� 0�� 20;� �6=0�Q80��/Q� >��� �/01�5?
���&� #��� /0;0� J/0B@�0>51��/Q�=0B5>A� ��>� ��2�<� 52A�=1�I�06Q�
B@� =515B106�/Q� J5158� ��,���I� �� 0B56=5J�/Q� 6��B�5��52<� =0�
�1�3�53�2515<� 2����0��60�>�/&� ��  !+ � ;0>A�0��20;�1�6=0��;�/Q�
P0/�� �� 8��J�/5�Q�@2<� �0� �65� �5� �5>06/�/0J�@2� �0��J56/�02�
>56��/�@P� 6A>0�&� �� =1�� ��I52� ;06=0>6/�5� �� �08>AP5� �� ��� 2015�
2@� �5� 602�5����6Q� �� /02<� J/0� 620�52� A��J/0��/Q� 5;0� �12�>A�
���� �@�56/�� 55� �8� 6/10�&� ����2� 0B1�802<� �65� /5� 600B1��5���<�
�8� �0/01@P�2@��6P0>������  !+%�;0>A<�6/����/5=51Q��561���5��0�
B0�55� 06�0��/5�Q�@2�&� :0��� ��I�� B>�/5�Q�06/Q� 06/�����6Q� ���
�@60/5<� �� ��I�� 60B6/�5����� 6�6/52�� 0B010�@� �5� 06��B5����<�
�05��02A� ��B��5/A� �� ��J��Q����2� I/�B0�� �5�=1�P0>��06Q�B56?
=0�0�/Q6�&

]0/����I�2�>1A8Q�2����251��5<�0/�A>������2�=1�5P����6���?
8�/02��56�0�Q�0�;5�51��0�<� ��I5�=0�0�5��5���AI��0�B0�QIA7�
/15�0;A<����56Q�06/��Q�03�2�1�6J�/����/01�5��5�����;��7��=0�?
�5��510�/�@2<�6�2��2@�60J���65B���=1��5�0/=1���/Q�8��2015��65�
�036��<�=515�08�A��0/01@P�20;���0B56=5J�/Q��25�I�56������I52�
1�6=01��5����6A>�<� �� �56/�� ��6/A=�/5�Q�A7� �03�A���� �15>�52�
�06/0�5������15>�852�02016�02�1�30�5&��25��0�8>56Q���P0>��6��
6/51�5�Q� ��I53� BA>AN53� 0�0�J�/5�Q�03� =0B5>@<� �� �25��0� ��
 !+ � ;0>A���J���6Q�=51�@5�8��25��/5�Q�@5�60B@/��&

�0� �152�� �03�@� �12��� >0���@� 61���/Q6�&� �O1���� B@���
5>��6/�5��@2� �0�/��5�/02<� ;>5� 2@� 20;��� �6/15/�/Q6�� 6� ��?
I�2�� �1�;�2�� ��� 6AI5&� �@�6J�/����0B010�A� 	;�=/�� �� ���Q/@�
>0�;02<� 0/� �0/010;0� 2@� �5� 20;��� A��0��/Q6�<� �� =51�@2� =1�?
802<� �0/01@3� 20;� ��2� >06/�/Q6�<� B@�0� 1�81AI5��5� �/��Q��?
6�03� �2=51��&� ��I5� 60=10/���5��5� =0B5>0�06�@2� >51����2�
06�� ��� �15>�52� �06/0�5� �� ��I�� =0=@/��� 0B\5>���/Q� �� B01QB5�
=10/��� ��P� ������@� �� �A1S�7� �� �0/� 06�0����� /52�� M/0;0�
205;0� =0�56/�0�����&

�̂ �̂ ^

��J��0� ;0>�� B@�0� 08��25�0���0� 1�>06/�@2� 60B@/�52� ��
=0B5>�2�� �� :A6/@�5&� -� ����1�� ��=�/A��10����� ��1>��� 6�B0�55

"



J52� +%,/@6�J�@2� ;�1��80�02&� ��8��06Q<� 2@� A�5� >51��2� ��
6�0�P� 1A��P� �� �0B1A�&� �� >536/��/5�Q�0<� J5158� >�5� �5>5��� 2@�
5;0� 8�P��/���<� �8��� 0�0�0� $%� /@6�J� =�5��@P&�  !� ����1�� 2@�
6�0���8������ ��66��A� �� �A>��5<� �� *%� ����1�� �6/A=���� �� �/��Q?
��6�A7� �0�0��7� X1�/157<� 8�P��/��� J5158� �56�0�Q�0�>�53� �5?
�58�0>010��A7� ;0�0��A7� 6/��S�7� �� ��66��&� �� /0/� �5� >5�Q�
�2=51�/01� ]�3�5� �5��66�5� �51�A�6�� �� �B�66���7&

�� /5J5��5� �65;0�M/0;0�=51�0>�� �� ��2�=10>0������=06/A=�/Q�
600BN5���� 0� =515>���5���P� ;512��6��P� �036�� �� 0� =0>;0/0��5�
�52S5�� �� ��2=����� ��� �������P&� U� =0>;0/0���� >��� ��J��Q?
���0�� I/�B0�� 6�07�0S5��A�P0>�� �03�@� ��S5�02<� ��0��� ��0BN52�
60;��6���6Q� 6� �53&

��������������� � �� �����	���  ���!� ��"� �������	� �	#
�	�������� $�	%��

'� ����1��  !+ � ;0>�

D

��6�0��03� �� ����53I53� 8�>�J53� ��I�P� 0=51�S�3� 8�� ;1�?
��S53� �� =51�@5� 256�S@�  !+ � ;0>�� >0��5�� B@/Q� 6�0153I�3�
1�8;102� �/��Q��6��P� �001A�5��@P� 6��� �� �5�510,�06/0J�03�
�O1��5&� :06�5�1�8;102�� �/��Q��6��P� �036�� �� ��15����5� ��I��
�036��� �� >0���5� ����� 06�0B0>�/6�� >��� �@=0��5���� >1A;�P� 8�?
>�J&� �� J52� BA>A/� 8���7J�/Q6�� M/�� =06�5>��5<� 2@� =0��� 5N5� �5�
20�52� 6��8�/Q&&&

�@� =06/0���0� >0���@� 0��>�/Q<� J/0� R�/�51� �6�015� =0=@?
/�5/6�� ���56/�� ��2� /��5�@3� A>�1� �� J/0� 0�� �� ��6/0�N55� �152��
;0/0��/6�� �� �1A=�@2� 0=51�S��2� 6� 0B@J�03� >��� �52S5�� /N�?
/5�Q�06/Q7&� �0�5J�0<� 0�� �5;�0� 20;� B@� =103/�� J5158� �/���7�
�� 1�8256/�/Q� 6�0�� �05��0,�08>AI�@5� 6��@� ��� ��S����&� �08?
20��0<� J/0� �25��0� M/0� �� =10�6P0>�/� �� ��6/0�N�3� 2025�/&

�02�/5/A� ��J��Q���0�� I/�B0�� =15>��;�5/6�� A6�01�/Q� 1�?
B0/A� ��>� 0=51�S�53� ���O���6�� (=���� 0��A=�S��� ��S����)<�
�0/01��<� �0820��0<� =1�0B15/5/� J158�@J�3�05� 8��J5��5&� �>��?
�0� �5/� ������P� >���@P� �� /02A<� J/0B@� M/03� 0=51�S��� B@��
=15>06/���5�� =1�01�/5/� =0� 61���5��7� 6� 0=51�S��2�� �� �����<�
=0� �1�3�53� 2515<� >0� /5P� =01<� =0��� �5� BA>5/� �8�/� �0B1A�� �� ��
�52� �� �� /0� �� 5N5� >��QI5� ��� 8�=�>� �� �5� BA>5/� 608>���� =10?
J���� =515>0���� B�8�� >��� 8�N�/@� 	;�=/�&

�65� �@I56��8���05� ;0�01�/� 0� /02<� J/0� 8�>51���� �7B0;0�
=10>���5���� ;512��6��P� �036�� ��� �������P� >0� �56�@� B@���
B@�>��� ��6� �����5�Q8��B0�55� �@;0>��&� �25��0�=0M/02A�6�5>A5/�
0=�6�/Q6�<� J/0� 0�0� ��J�5/6�� 1��QI5&� :0>��;�<� �0/01@5� 60�51?
I���� ;15J56���� �12��<� 0��8���� ��2� 0;102�A7� =020NQ&� R15���
�56Q2�� �@60�0� 0S5����� J158�@J�3�0� 6�102�A7� =0>>51��A� 60

!



6/010�@� ��I53� ����S��� �� 5>��6/�5��A7<� �0/01A7� 2@� 20;���
�2�0��8�/Q&� �0� 56��� 8�� �P�A6=5P�2��=06�5>A5/��58��J�/5�Q�05�
=01��5��5� ���� 8�6/03<� 2@� >0���@� 0��>�/Q<� J/0� 0��� �525>?
�5��0� =0/15BA7/� 0/� ��6� >0=0���/5�Q�03� =020N�&� 	>��6/�5�?
���� =020NQ<� �0/01A7� 2@� 20;��� B@� B@6/10� �2� =15>06/���/Q<�
M/0� 5N5� J5/@15� ���� =�/Q� M6��>1���3� 60� �15>�5;0� �06/0��� �<�
=0���A3<� �56�0�Q�0� �1/���51�36��P� =0��0�� �� �56�0�Q�0� ����
>��5� �65� /����� *,3� B10�5/���0�03� >���8��<� �0/01��� �� ��6/0?
�N�3�2025�/�=1�B@��� �� 	;�=5/���=10>��;�5/6�� /�2�B58�060B03�
=06=5I�06/�&&&

�0820��0<� J/0� =08�S��� .;06������ 0=15>5��/6�� �� 6��8�� 6�
=020NQ7<� �0/01A7� 2@� 0��8@��52� R15S��<� �� 55� A6=5P�2�� A�
���0�@&� ]0/�� M/0� �5�Q8�� A/�51�>�/Q� ��/5;01�J56��<� ���B0�55�
56/56/�5��@2� =A/52� >��� �52S5�� B@�0� B@� =103/�� J5158� �A2@?
��7� �� L51�02A� 2017� ��>��QI5<� J5158� /511�/01�7� �P� 6/�10;0�
6078����<� �0�;�1��<� �� ���0����2<� �� �5� =10B���/Q6�� J5158�
.;06����7&� ��� M/0� A��8@��7/� =515>���5���� �1A=�@P� �0��?
6��P� J�6/53� �� 2�0;0J�6�5��@5�6�AP�<� �0/01@5�>0P0>�/�>0� ��6&�
:0,��>�202A<� �255/� 256/0� 8��J�/5�Q�@3� 106/� J�6�5��06/��
;512��6��P� �001A�5��@P� 6��� �� A�AJI5��5� ;512��6��P� �02?
2A����S�3� �� 7;0,�06/0J�02� ��=1���5���&� �@� >0���@� >536/?
�0��/Q� /���2� 0B1�802<� J/0B@� 0B56=5J�/Q� �6/A=�5��5� �A1S���
�� �03�A<� 56��� =10/������ ��5>5/�6�0�� �036��� �� �0�;�1�7&� 	6���
=08�S��� .;06������06/��5/6��/�51>03� ��53� �5�BA>A/�A;10��/Q<�
56��� ;15��� 8�P��/�/� ���0�A� ��A�15=�/6�� �� ��B����<� 56��� �A1?
S��� 6/��5/� ��I�2� ��/���@2� 6078���02<� /0<� �0820��0<� =08�?
S��� �066��� �825��/6�� �� B��;0=1��/�A7� >��� ��6� 6/010�A&�
�6��02A� �6�0<� 6� ����2�� �5=1��/�06/�2�<� 56��� �5�60�6251/5�Q?
�03�0=�6�06/Q7<�>0���0�B@/Q�6��8��0�>��� �066���=10>���5��5�
;512��6��P� �036�� �� L51�02A� 2017� ���� J5158� �0�;�1�7� ��
X;536�02A� 2017&� �0�Q�0� 6/1�P� BA>5/� A>51����/Q� �066�7� 0/�
�6/A=�5���� �� �03�A<� �� �0820��0<� J/0�6��Q�@3� O10�/� 6078��?
�0�� ��� �������P� ��1�>A� 6� 1�6/AN�2� =156/��52� ��;��36�03�
�12��<� �05��0,2016�0;0� �� �05��0,�08>AI�0;0� O�0/0�� 0/J�6/��
A251�/� M/0/� 6/1�P&� �>���0� 2@� �5� >0���@� 1�66J�/@��/Q� ���
M/0&

:06�5>��2� =0� 6J5/A� 600B1��5��52<� �0/0105<� 0>���0<� 0=15?
>5��5/�60B03� �65� ��I�� �05��@5�A6����<� ����7/6��A;108�� �/01?
�5���� �� �08>AI���� �03��� 6� 55� =06�5>6/���2�� >��� ��I53�
=102@I�5��06/�<� �� /���5� �56/0��3� ����2<� 0��8@��52@3� ���
��I�� 8�=�>�@5� =01/@� �� 65�510,8�=�>�@5� �022A����S��&� �5�
=1�P0>�/6�� 602�5��/Q6�<� J/0� R�/�51A� B0�QI5� J52� �0;>�� B@� /0�
��� B@�0� �50BP0>�20� 60�1AI�/Q� ��;��7� ���� A201�/Q� 55� ;0�0?
>02&� ��� B0�QI��� ��2=����� �� �06/0J�03� J�6/�� 	�10=@<� ���
=01��5��5� �066��<� ��� 8�P��/� ��1���@� �� =10>���5��5� 0/�
L51�0;0� >0� ��6=�36�0;0� 201�� �5� >�>A/� 52A� �� �256/5� ���� ��
0/>5�Q�06/�� �� =0B5>0�06�0;0� 2�1�<� 56��� �� M/0� �152�� 6��@

.



��;��36�0;0� �05��0,�08>AI�0;0� O�0/�� BA>A/� =06/0���0� �081�?
6/�/Q� 8�� 5;0� 6=��03� �� 52A� =1�>5/6�� >51��/Q� �� A8>5� S5�@3�
�0�/��5�/� 6� 5;0� ;0�0>�@2<� 08�0B�5��@2� ��65�5��52&� :0M/02A�
8�>�J�� =15>A=15�>5���� �/01�5���� �� 0B56=5J5���� =10>0�0�Q?
6/�5��0;0� 6��B�5���� �1�/��6��P� 06/10�0�<� �� /���5� A6�015����
=10�8�0>6/��� �001A�5��3� �� ��I53� 6/1��5� ��� �� �052� 6�AJ�5�
�5� >0����� 0/6/A=�/Q� ��� 8�>��3� =���� 1�>�� >06/��5���� ����P�
B@� /0� ��� B@�0� >1A;�P� S5�53�&

�̂ �̂ ^

�� R�/�51�� /���5� B@��� 6�0�� >A2@� =0>� �0�@3� ;0><� �� �5B5?
8@�/5156�0� 61����/Q� 6� 2053� 0S5��03� 60B@/�3� 5;0� =�6Q20� ��
�A660����<� ��=�6���05� �2� �5>5�53� 1��QI5&

$ � >5��B1��  !+%� ;0>�

�#AJ5_&&� ��662�/1�����0BNA7�0B6/��0��A<� ��=1�P0�A� ��6�5?
>A7N�2� �@�0>�24

 &� ��2�� =0� 65B5� �03��� ��� Y�=�>5� �@�;1���&� �50BP0>�20�
5N5� =1��0��/Q� =06�5>�55� 651Q58�05� A6���5<� J/0B@� 60�1AI�/Q�
��;��7&� #��� /0;0� J/0B@� 0=15>5��/Q<� ���� ��2� M/0;0� >0B�/Q6�<�
2@� >0���@� �8�56�/Q� O��/01@<� �0/01@5� BA>A/� 5N5� 0/>5��/Q�
��;��7� 0/� 0�0�J�/5�Q�0;0� �1�P�� =06�5� /0;0<� ���� �08@255/�
6�05� >536/��5� A6��5��5� ��6/A=�/5�Q�@P� 0=51�S�3� ��I5;0� �0?
5��0,�08>AI�0;0� �� =0>�0>�0;0� O�0/0�&

&� M/03� B�/�5� �� =06�5� >06/��5���� ��2�� =51�@P� 6/�>�3� A6?
=5P�� R512����� �50BP0>�20� BA>5/� =1���/Q� ����@5� 15I5����
>��� 0�0�J�/5�Q�0;0� ��6/A=�5���� ��� �1�/��6��5� 06/10��&� �0?
615>0/0J5��5� 600/�5/6/�A7N�P� 6��<� �� �� 060B5��06/�� 608>���5�
0;102�@P�8�=�60��6��B�5����=0/15BA7/�01;���8�S��� /��03�6�?
6/52@� =10/��0�08>AI�03� 0B010�@<� �0/01��� BA>5/� 8��J�/5�Q�0�
=15�06P0>�/Q� ��I�� =51�0��J��Q�@5� 1�6J5/@&

*&�' �	���" &� [1��SA86�05� =1���/5�Q6/�0� 8�6/����0� �������
=0>�/Q� �� 0/6/���A&� �O�S���Q�@5� =1�J��@<� �0/01@5� B@��� 2�5�
600BN5�@<� ����7/6���0��@2�&�U� ��� ���2��A/A��5�602�5��76Q<�
J/0�O��/�J56����=1�J���� 8���7J�5/6�� �� /02<� J/0� ;5�51��� �53,�
;��� =15>\����5/� �8� �5�51�03� �O1���� /���5� /15B0�����<� �0?
/01@5� ;1���J�/� 6� I��/��02<� �� J/0� =1���/5�Q6/�0� ��I�� �5� ��
606/0����� 15�;�10��/Q� ��� ��P<� �5� 1�6�A�� =0/51�/Q� �5�51�A7�
�O1��A&�U�/���5�6J�/�7��=0��5��510�/�@2<� J/0���6�202���I��
6AN56/�A5/� S5���� �����<� �0/01��� =0� �1�3�53� 2515� 20�J����0�
0>0B1�5/� =0��/��A� �53;���&� U� �5� >A2�7<� J/0� 6�2� :5/M�� �5?
�0��5�&� �0� �5�Q8�� B@/Q� ��� �� J52� A�515��@2&� �65� M/0� /15BA5/�
=06/0���03� B>�/5�Q�06/�� �� /N�/5�Q�0;0� ��B�7>5���� 8�� P0>02�
60B@/�3&

$&�( ��	��" &� �6=����<� ;�AB0�0� �6/15�0�5����� 608>��I536��
6�/A�S�53<� �0/01��<� =0� 2�5��7� [1���0<� APA>I���6Q<� 0/��8�?

  



��6Q� 60/1A>��J�/Q� 6� >51����2�� 06�&� U� 0=�6�76Q<� J/0� [1���0<�
�0820��0<� ;0/0�� 60�51I�/Q� 6�2A7� B0�QIA7� 0I�B�A� �� 6�053�
��8��&� U� 6J�/�7<� J/0� 5;0� =���� =0�AJ�/Q� 0/� >520�1�/�J56��P�
6/1��� 6@1Q5�@5� 2�/51���@� �� =I5��SA� �� ��>5� �5�0/0103� �02?
=5�6�S��� 8�� /0<� J/0� 0�� ��P0>�/6�� �� 6/010�5� 0/� �05��0;0� �0�?
O���/�<� J158�@J�3�0� ����5�&� #520�1�/�J56��5� 6/1��@� BA>A/�
>51��/Q� 5;0� �� 606/0����� ��=1��5��0;0� 0��>����� >0� /5P� =01<�
=0���A� �5;0� �5� �66���5/� �6��=I5��S��>0�=06�5>�5;0� 851�@I��<�
�� 8�/52� ��J�A/� �03�A� =10/��� �5;0&

U� 6�01B�7� 0B0� �652� M/02<� /��� ���<� 60� 6�053� 6/010�@<� 2@�
8��0�J���� �65� =1�;0/0��5���� �� /02A<� J/0B@� =51565JQ� �6=��?
6�A7� ;1���SA�  %� ����1�� �� �/��0��/Q� R�B1��/�1� �� ��J��5� O5�?
1���&�U�>A2�7<� J/0�2@�20;���B@�61����/5�Q�0�B@6/10�>0B�/Q6��
A6=5P�&� �@� 6=5S���Q�0� 0/0B1���� �� 0BAJ���� �036��� >��� M/03�
0=51�S��&� ���� /0�Q�0� R�B1��/�16��3� =10���� 0���5/6�� �� ��?
I�P�1A��P<� A;108��=515P0>��O1��SA80�� �� �5�51�03� ��Y�=�>�03�
�O1��5� ��� 6/010�A� =10/������� 0=15>5�5��0� BA>5/� A6/1��5��&

:0M/02A�25���0J5�Q�0;01J��0�M/0�15I5��5�[1���0<� �0/0105�
/��� �5� ���5/6��6�=020NQ7<� 0��8���03�52A���2�<�>AJ5<� ��2�03<�
�0;>�� 0�� ��P0>��6�� �� 8�/1A>��/5�Q�02� =0�0�5���&� U� �65� 5N5�
=�/�7� ��>5�>A<� P0/�� �� 6��BA7<� J/0� �� =06�5>�77� 2��A/A� 0��
0608��5/<� �� ����2� ��/�6/10O�J56��2� =06�5>6/���2�20�5/�=1�?
�56/�� 5;0� =0�5>5��5<� �� J/0<� P0/�� B@� �� 6� 0=08>���52<� 0�� =1�2?
��5/� �� ��I52A� B05�02A� O10�/A<� �B0� ��I�� =0B5>�� 15I�/� �� 5;0�
60B6/�5��A7� 6A>QBA&

+&�)���	��"� � �0�;�1��� /���5� �5�=10����5/� ;0/0��06/�� 6��?
8�/Q� 65B�� 6� /1036/�5��@2� =��/02� �� 8���/Q� �6�A7� =08�S�7� ��
0B��6/�� ��5I�53� =0��/���&� :1�J��03� M/0;0� ����5/6�� 1�6/A?
N�3� ����2� �0�5/6�03� �066��&� 	6��� B@� S�1Q� �525>�5��0� =1�?
605>����6�� �� ��I52A�=��/A<� ���/0� �5� 0625���6��B@�0��8@��/Q�
��� �5;0� /��03� ����2&� ]A�5� �65;0� /0<� J/0� M/0� ������5� 0/1��?
��5/�0BN56/�5��05�2�5��5<� �0/0105��5�06/�5/6�� �5JA�6/��/5�Q?
�@2� �� �022A��6/�J56�03� 8�1�85&

-&� �5� =0>�5��/� 602�5��7<� J/0� /0�Q�0� �5�;1��� �� �A2@����
8������ �� M/02� �0�O���/5� ���B0�55� �6�A7� =08�S�7&� R5�51���
��/0�56�A� =0���<� J/0� BA>AN55� �08;�����520;0� �2� 15��2�<� >��
�� 5;0� 60B6/�5��05<� 8���6�/� 0/� ��I53� =0B5>@&� �8� M/0;0� 0�� 6>5?
���� �6�@5� �� =1�2@5� �@�0>@<� �0/01@5� 8��J�/5�Q�0� =0>�����
5;0� �� 20�P� ;��8�P&

:08�S��� �5�;10�� ����5/6�� �5�25�55��0��Q�03&� ��  $�>5��B1��
06AN56/���7/6�� B56=151@��@5� /1��8�/�@5� =515�08��� ;512��?
6��P� �036�� �� ��=1���5���� �A2@���&� �5�;1��� �� �A2@���� =15?
>06/������ �� 205� 1�6=01��5��5� �67� 6�07� 65/Q� �5�58�@P�>010;<�
/��� J/0� ;512��6��5� �036��� 20;A/� B@6/10� >06/����/Q6�� �� /52�
=A��/�2<� ��� �0/01@5� 0��8@��5/6�� ���B0�55� 6��Q�@3� ����2&� ��
��6/0�N�3� 2025�/� �� 5N5� �5� 20;A� 6��8�/Q� B0�QI5� 0� /5P� 0=5?
1�S��P<� �0/01@5� 2@� =����1A52� ���� �0/01@5� 20;A/� 0��8�/Q6�

 *



�50BP0>�2@2�<� /��� ���� M/�� =���@� ���� 1�8� 1�81�B�/@��7/6��
�� >���05� �152�&� �0� �6��02� 6�AJ�5� 6���� ��I�P� �036�� BA>5/�
/��0��<� J/0� �7B��� A;108�� 0BP0>�0;0� �0�/12��5�1�� BA>5/� �6�?
�7J5��&

�0�51I5��0� �50BP0>�20<� >AJ5<� J/0B@� �@� 6/�B���8�10�����
6�03� O10�/� �� ��B����<� 6� /52� J/0B@� 6�0��/Q� =0� �1�3�53� 2515�
J�6/Q� ;15J56��P� �� ��;�0,;15J56��P� �036�&

'&� * ����	��" &� .;06������ =10����5/� 06/010��06/Q<� 6/�1�?
�6Q� �@�;1�/Q� �152�&� :1�� B��;0=1��/�@P� 0B6/0�/5�Q6/��P� 0��<�
�0820��0<� 8���7J�/� 6� ��2�� =��/� 0� �5��=�>5���<� �0� �� /103?
6/�5��02A� =��/A� 0��<� =0,��>�202A<� �5� =1�605>���/6�� ��� ��
���02� 6�AJ�5&� U� �5� 60B�1�76Q� >��5� =@/�/Q6�� >0B�/Q6�� J5;0,�
��B0� B0�QI5;0�>0� /5P�=01<� =0��� ��I�� �05��@5�A6=5P�� �5�=1�?
�5>A/� �� A�AJI5��7� =6�P0�0;�J56�03� 0B6/��0���&

H&�+����" &� :1���2��� �0� ���2���5� A;108A� �08����0�5����
��A/15���P� �0�O���/0�� �� �5�0/01@P� ������6��P� 6/1���P<� �5?
0BP0>�20� 8�1��55� AJ56/Q� �65� �0820��@5� =06�5>6/���� �� 1�81�?
B0/�/Q� 6�6/52A� 251<� �0/01@5� =08�0����� B@� ��2� �8B5��/Q� �P&�
U� �5� =15>���A� ���03,��B0� ���S��/��@� 1A66��P� =10/��� ��6<�
=0��� ���� �/����<� �� 2@� 6�2�� �5� ����526�� �51/��2�� ����P,�
��B0� 651Q58�@P� �5A>�J&� U� 6J�/�7� �50BP0>�2@2<� >AJ5<� �� ��?
J56/�5� =15>=06@���� �� A>0��5/�01�/5�Q�02A� 0�0�J���7� �03�@�
����J�5� A� R512����� �12��<� >06/�/0J�0� 6��Q�03<� J/0B@� 6=1�?
��/Q6��6��7B@2��06�0��5���2����� �06/0�5&�L52�B0�55�6��Q�03�
BA>A/� 6J�/�/Q� M/A� �12�7<� /52� 25�QI5� BA>5/� �510�/�06/Q� /0;0<�
J/0� ��2� =1�>5/6�� �6=0�Q80��/Q� 55� =10/��� �5=15>��>5��03�
0=�6�06/�&� U� P0/5�� B@� >0B���/Q� �� M/�2� 0BN�2� 600B1��5���2<�
J/0� �� ��6/0�N55� �152�� A� ��6� 0J5�Q� P010I�5� 0/�0I5���� 6�
����&� �@� ��P0>�26�� �����A�5� 8���7J5���� /01;0�0;0�>0;0�0?
1�<� �0/01@3� A>0��5/�01�/� 0B5� 6/010�@<� �� �257/6�� 651Q58�@5�
06�0������ ��>5�/Q6�<� J/0� ��2� A>�6/6��A15;A��10��/Q�06/�7N�?
56�� 5N5� �51�815I5��@2�� 25�>A� ��2�� �0=106@&

[��/�J56��� /0�Q�0�>��� �0=106��5N5�1�8>5��7/���6� �� [��?
���>��� �� �0�6/��/��0=0�Q&� �� 0/�0I5���� [�����>��� �� �5�
=15>���A� 651Q58�@P� 8�/1A>�5��3<� �B0� 2@� �5� 1�662�/1���52�
[�����>�7� ���� 6/1��A<� �P0>�NA7� �5=0615>6/�5��0� �� ��IA�
6O51A� �������<� �� 5>��6/�5��05<� �� J52�2@� 8���/51560���@<� M/0�
J/0B@� �� M/02� 1�30�5� �5� �08������ �/01��� �03��&

�� =10/��0�56� M/02A� �� ��I�� ��/5156@� 0/�7>Q� �5� �P0>�/�
A6/A=�/Q� �0�6/��/��0=0�Q� �066��<� �� �0�;�1�7� �� B0�QI5��8?
2A&� �0� >��5� �� 8>56Q� =1�� ����J��� >0B103� �0��� 20��0� B@�0�
B@� >0B�/Q6�� /��0;0� 1�815I5���� =10B�52@<� �0/0105� =08�0��/�
��2� �8B5��/Q� 6�20;0� PA>I5;0� �� 0B�5;J�/� ��2�>06/��5��5� ��?
I�P� S5�53&� �@�0� B@� �5;J5� A15;A��10��/Q� M/0/� �0=106<� 56���
B@� �06���� �6�0� =0��2���<� J/0� ��J/0� �5� 8�6/���/� ��6� 60;��?
6�/Q6�� ��� /���5�A6�0���<� �0/01@5�2@� �5�60J/52�>���65B��A>0�?
�5/�01�/5�Q�@2�&

 $



"&� ,-���	 &� #AJ5<� �� �5�6J�/�7<� J/0� ��� M/02� /5�/15� �05��@P�
>536/��3� 20��0� ��J�/Q� �� ��6/0�N�3�2025�/� ���05,��B0� �1A=?
�05� �0�/1��6/A=�5��5&� :0>;0/0���� �� �52A� =0/15BA5/� 6�205�
25�QI55� 0/� /15P� >0� =�/�� 256�S5�&� �52� �1525�52� ��6/A=�/�
/��05� �152�� ;0>�<� �0;>�� ;512��6��5� /���0�@5��036��� �5�620;A/�
B@/Q� A6=5I�0� ��5>5�@� �� B03<� /��� ���� >��5� B10��10����@5�
��/020B���<� 56��� 0��� �5� BA>A/� 6��B�5�@� 6=5S���Q�@2�� 0P?
��>�/5�Q�@2�� A6/��0���2�<� =1��/�J56��� �5� 620;A/� B@/Q� �6?
=0�Q80���@� =1�� /���P� /52=51�/A1�P&� �0� �6��02� 6�AJ�5<� 0���
�5� 620;A/� B@/Q� �6=0�Q80���@� �� /��/�J56��P� S5��P� �0� �152��
0=51�S�3� ��� >��Q�55� 1�66/0���5<� ;>5� �2� =1�>5/6�� ��P0>�/Q6��
�� >���5���� �� /5J5��5� S5�0;0� >��&

:1����Q�@2� 15I5��52� �0=106�� �� M/02� 65�/015<� =0,��>�20,�
2A<� ����5/6�� A�5��J5��5�J�6��� =10/��0/���0�@P�01A>�3<� >��5�
56��� >��� M/0;0� =0/15BA5/6�� ��I�/Q� M/�P� 6=5S���Q�@P� 01A>�3�
�/��Q��6��5� �036��� �� >1A;�P� 65�/01�P&

�>���0� =15�>5� �65;0<� ���� �� A�5� A��8@���<� �� 6J�/�7� �5?
0BP0>�2@2� =06/�1�/Q6�� �0� J/0� B@� /0� ��� 6/��0� 06��B�/Q� =08�?
S��� ��;��36��P� �05��0,2016��P� 6��� ��� �15>�852�02� 2015� 6�
=020NQ7� ��I53� ����S��<� /��� ���� �6=0�Q80����5� ��I�P� 6A?
P0=A/�@P��036�� ��M/02�65�/015��5�20�5/�=0�56/�� ��A�AJI5��7�
=0�0�5���&

�� 06/��Q�02<� >AJ5<� 2@� �5�20�52� =1���/Q� ����P,��B0� ���?
�@P� 15I5��3� >0� 2�1/��&

�̂ �̂ ^

"� ����1�� �02�/5/� 0B010�@� 15I��<� J/0� ���>A� �510�/�06/��
�/01�5���� �� B����3I55� �152�� ;512��6��P� �036�� �� R15S�7�
����.� )���	��! � 6� =0��/�J56�03� /0J��� 815���� �6��7J�/5�Q�0�
����0� 6>5��/Q� �65� �0820��05<� J/0B@� �7B@2�� 615>6/��2�� �5?
25>�5��0� 0��8�/Q� R15S��� 2��6�2��Q�A7� =020NQ<� �0/01��� BA?
>5/� �� ��I�P� 6���P&� �@�� /���5� 60;��60���� �0=106� 0� /02<� J/0�
15I5��5� 0� O0125� �� 1�8251�P� ��I53� =020N�� R15S��� >0���0�
B@/Q� =1���/0� �� /5J5��5� B����3I�P� +"� J�60�&

�̂ �̂ ^

 %� ����1�� ��J��Q����� I/�B0�� =15>A=15>���� �02��>0����5�
��� �15>�52� �06/0�5<� J/0� ��6/A=�5��5� ;512��6��P� �036�� ���
R15S�7� 20�5/� ��J�/Q6�� 5N5� >0� �0�S�� 256�S�&� ���� 6J�/���<�
J/0� 0�0� BA>5/� 06AN56/��5�0� J5158� �0�;�1�7<� �� �� ��J56/�5�
�0820��0;0� =A/�� ��6/A=�5���� A��8@����� ��=1���5��5� ���8�=0�
>0���5�15��� �/1A2�� �� ���0����2&� #���M/0;0� ��6/A=�5����>0�?
��@�B@���B@/Q��6=0�Q80���@�/1��>���8���=1��=0>>51��5�0�0?
�0� *%%� =���1A7N�P� B02B�1>�10�N��0�<� =1�J52� =06�5� 2�1/��
�� 606/��� M/�P� �036�� 20;�0� ���/Q6�� 5N5� /1�,J5/@15� >���8��&

 +








































































































































































































































































































































































































































































































































































































































































































































	ВТОРАЯ МИРОВАЯ ВОЙНА. В шести томах. ТОМ ТРЕТИЙ. ВЕЛИКИЙ СОЮЗ
	ПРЕДИСЛОВИЕ

